msi

IS
VAMNPIRIS 100R

IS
VANPIRIS 100L

User Guide

&£ R F M



Contents / B %

Accessories /BB ... 3
Specification / BERRRRRG ..ot 4
Case Features / BERRAFE ..ot 5
Side & Front View/ IEIFIATE . ..........ccoorvveerireeeisseeeeseeeeeseees oo 6

10 Panel / 10 &tk

SSD , HDD Installation/ SSD FIBBERZZEETT TN ooooovovo 8
2.5" SSD, HDD Installation/ 2.5" SSD FIBEERREET TN ..oovvvovvceeecces 9
Opening the Left & Right Side Cover/ BEBIUEB IR .......oovovveeecre 10
Motherboard Installation / ZEEFHEAR ......cooooveveceeieeeee e 1
ARGB Fan Connection /3 ARGB JE ......o.oveveeeeeeeeeeeeeeeeeeeeeeeeeeeeeee e 12
Graphics Card Installation / ZEEBETR T ...ooooovvovcceeeee e 13

PSU Installation / B8 TRHIERR ..o 14



Accessories / Fgff

Item JEH Name &18 / Q'ty 8=

Cable ties
x5

—]

Used for A&

Cable management

PCl slot cover

PCI $&i&TE R

|: NSNS ]}]

PCl slot protection
fR&& PC| g

x2
@ I]jm JF;U;E;;VZ; Front 120/140mm fan
e HiE 120/140mm AR

Screw #6-32 10mm
FEIRM
x2

Securing drive tray

[E| E BB AR TR

Screw #6-32 6.5mm

Motherboard Stud

xb FHEARIEE
Screw M3 5mm Motherboard / SSD
x17 MR / SSD

Screw #6-32 6mm

@]}m av:L: ]
x6

PSU / PCle Card
EIRILAESS / PCle £

Screw #6-32 5mm

BlGi 3.5" HDD
@ (mw B ik
x4
Screw #6-32 4mm
vy 4 3.5" HDD
AT 3o

1 ¥ 3 AR DER

x1

1 to 3 fan splitter cable

(MAG VAMPIRIC 100R only)

Connect 3 fans

% 3 AR




Specification / BRI

MAG VAMPIRIC 100R MAG VAMPIRIC 100L

. Front: 1x 120 mm Black fan .
Pre-installed Rear: 1x 120 mm ARGB fan No pre-installed fan

LT LTI E I 390(D) x 205(W) x 457(H)

UG GENG R  ATX / Micro-ATX / Mini-ITX

2x 3.5" Inclued (1x compatible with 2.57)

Drive Bays [ppgs N

1x LED switch button

2x USB 2.0 Type-A ports

1x USB 3.2 Gen 1 Type-A port
ORELEIEN  1x Micin jack

1x Audio out jack

1x Reset button

1x Power button

CPU Cooler Hight: Max 160 mm
WEETEN LN Graphics Card Length: Max 300 mm
PSU Length: Standard ATX 160 mm

Front: Up to 3x 120 mm or 2x 140 mm
GELRTT LG8 Top: Up to 2x 120 mm
Rear: Up to 1x 120 mm

Front: Up to 240 mm
Rear: Up to 120mm

Radiator Support

Left Side: Tempered Glass
Right Side: Metel

Front: Mesh

Top: Metel

Material



Case Features / #3545




Side & Front View/ | E#0&#iE

205mm

390mm

200mm

38Tmm

wwgy




10 Panel / 10 EtR

©00060600600000060060000006B0G000B006000
©0000000068600800600008006800006000G0200&O
©000OO©005000000600606060000000006006000
©0000000600000000000060000060600000G6GCO
©00000000000000000000G00000600000000OCO0
©000600©90€e06©00©00e90e°000008008®00
©000000000000000000000000000G00OCO0OCOOCO

(1) @ - oo [ [ [

el

=
(2] 00 00

A\
\
\

Power button / EiEi#H

Reset button / SRR
Micin / EEA

Audio out / H &I

USB 2.0 Type-A

LED switch button / LED sk

Short press the LED switch button to change mode.

1% LED iRl e iR =,

Long press the LED switch button for 3 seconds to turn LED off.
Ri% LED t#d% 4 3 #0$8LARARA LED,

USB 3.2 Gen 1 Type-A



SSD, HDD Installation/ SSD FEE RS

S
SHSSON

N\
R v P
NC— R T Ao \




2.5" SSD, HDD Installation/ 2.5" SSD FfEEREF R




Opening the Left & Right Side Cover/ BIR{AE R IR




Motherboard Installation / 3£ £ i1k




ARGB Fan Connection / &} ARGB R

The following setup allows to
connect ARGB fan only, please
do not connect ARGB fan to the
motherboard.

LUFECE (£ ARGB RS HHt > 55
701& ARGB EUR EIZE MR ©

SATA Power

LED Switch

LED #%2##

| (R |

The ARGB controller allows to conne
ARGB fans.

ARGB #2885 % 0] S H 5 18 ARGB A&

o 8

3

qZT6p
<10p

ctuptob

R ==

ARGB Fan

b1

=

ARGB B

— = =i

Ground Data +5V

SYS_FAN

((

ARGB Fan f
ARGB AR “

= [}

SYS_FAN

of —
| ﬁj@

~

- 5 D5V

{<I0p
&b

{elop
o
&b

2T
&b




Graphics Card Installation / REEEE TR+




PSU Installation / REEEF{LESS

S
S

S
S
o
S
S

S
S

o
S
SO
SO




	Accessories / 配件
	Specification / 產品規格
	Case Features / 機殼特色
	Side & Front View/ 側面和前面
	IO Panel / IO面板
	SSD , HDD Installation/ SSD和硬碟安裝方式
	2.5" SSD , HDD Installation/ 2.5" SSD和硬碟安裝方式
	Opening the Left & Right Side Cover/ 開啟左右側板
	Motherboard Installation / 安裝主機板
	ARGB Fan Connection / 連接ARGB 風扇
	Graphics Card Installation / 安裝顯示卡
	PSU Installation / 安裝電源供應器

